CCGPS Analytic Geometry Unit 6 Review 2

Circles, Parabolas, Systems of Equations

Equations: (x—h)>+(y—k’=r1> (x—h)*=4p(y—k) (y—K)’ = 4p(x — h)
Graph the equation and identify the important characteristics

1. 8y+x>—4x+1=5
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Write the equation for each circle in standard form. Then identify the center and radius.

2. The endpoints of a diameter are at (-4, 4) and at (-8, 2). 10
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6. Given the circle with a center at (-2, 6) and a radius of 5v2.

Write the equation of the circle in standard form:

7. Find the standard form of the equation for the parabola with a focus located at (-1, —2) and directrix at x=5
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8. Solve the system {x Y using algebra. SHOW ALL WORK.

x+y+6=0

>+8x—6y+9=-8
9. Solve the system {y oy using algebra. SHOW ALL WORK.

2x+y=1



CCGPS Analytic Geometry Unit 6 Review 2
Circles, Parabolas, Systems of Equations el &
Equations: (x—h)*+ (y—kP’=r" (x—h?=4p(y-k) (y—k)*=4p(x—h)
Graph the equation and identify the important characteristics
1. 8y+x?—4x+1=5 , 2 .

y (Xﬂf,\): ggfu"‘“ £

X r><+[‘r J“’rl{--{—/‘(' J
() =(0) = (a4

\2 o/ ‘ v~ .
Standard Form: ( =% )= ?[J =} [ A S R
N 7 _7 o o i
Opens: z?/D'*UV\ Vertex:__( Q i ‘ > p= o~ NS SRENAY P
Focus: ( Q\ \ Directrix: 4 = 3 al
= J L
~ b b e : ._,8.,
N 4 F Vs [ R UL S S S I . i
Focal Width: ?-S/ Axis of Symmetry: X=d AN LSRN TR,

Write the equation for each circle in standard form. Then identify the center and radius.
2. The endpoints of a diameter are at (-4, 4) and at (-8, 2).

M. LG' g LTL""‘ =2 é | Q)f(() =0 )
(/06( ) ( ) (/ 3) 5= ‘vf
WW’W(&Z s) (3-h)’ +(y-k) mr
(s o= 0
pei at (- g Ry - o ., w .
Equatlon& (3’( 4“‘43 "j*“( ’vj “"3 \ =4 Center: [ "‘C:( 3}'\) Radius: Jg/}” Qolzq'

3 ¥ +1 + 2y —4dy-l1l=

StandardFormEquatlon //}XGTIB Q T o e i e S S S
Center: ( / ’Z Radius: L+ e ot




h k

4. Given the circle with a center at (-2, 6) and a radius of] 5\/— J = &0
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5. Find the standard form of the equation for the parabola with a focus located at (-1, -2) and directrix at x=5
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6. Solve the system using algebra. SHOW ALL WORK.
x+y+6=0
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7. Solve the system {y el using algebra. SHOW ALL WORK.

2x+y=1
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